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R)f(x) = Qx+ Q
xQ − R Q)g(x) = R + R

x+R
R − W

xQ−R
W)s(x) = W

xT − RWxQ − WZ
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R)y = [−x] Q)y = −[−x]
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f (x) = W−Yx[ 	R
f(x) = xW + WxQ + Wx+ Q 	Q

f(x) = x + T√x+ R 	W

f(x) = x +
√
xQ + R 	T

f(x) = x+ [x] 	Y
f(x) = xQ + Zx− Q , x < −W 	Z

U9D�
 & f(x) =
⎧⎨
⎩Qx− R x < S

Tx + R x ≥ S
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⎧⎨
⎩

RQ(x+ R) x < S
RT(x− R) x ≥ S

Q)y =

⎧⎨
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RQ(x+ R) x < −R
RT(x− R) x ≥ R
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|x| , x ≥ S T)f−R(x) = −R
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√
|x| , x ≤ S
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 y = x
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 ���� 	W

U #:D% �O�>:� �A>/  #= �� 7�/��
� �
�(�/ � f(x) = xW + x− i ���� �
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W(T Q(W S(Q R(R
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 ��*��� ��	
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 & (a, b)
(Q, W)(T (Q, R)(W (−R, W)(Q (−R, R)(R
U9D�
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 & f−R(T) �
 >� f(x) = −x +
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! q/ P��G�(T − Q(W − Y(Q − i(R
U92
 N�(\ '
 & �� f(x) = Q −√

x− R ���� +(�G� ���� ���A��0 ��F��� ��	
R)y = −xQ + Tx− Y , x ≥ R Q)y = xQ − Tx+ Y , x ≥ R
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 & y =

⎧⎨
⎩
√
x x ≥ S

−√−x x < S
���� $��
� ���A��0 ��H��� ��	

y = ±x|x|, x ∈ R(T y = ±xQ, x ∈ R(W y = −xQ, x < S(Q y = x|x|, x ∈ R(R

U9D�
 & y =

⎧⎪⎨
⎪⎩
|x|
x

√|x| x 
= S
S x = S

���� $��
� ���A��0 ��I��� ��	

y = x|x|, x ∈ R(T y = x|x|, x 
= S(W y = x
√
|x|, x 
= S(Q y = x

√
|x| , x ∈ R(R
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Tx+ R, x ≤ T(T R

Tx− R, x ≥ T(W R
Tx− R, x ≤ T(Q R

Tx+ R, x ≥ T(R
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 & f(x) = x

R+|x| ���� $��
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y =
|x| − R

x
; |x| < R(Q y =

x

|x| − R , |x| > R(R

y =
R − |x|
|x| , |x| > R(T y =

x

R − |x| , |x| < R(W
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− x.f (x)(T x.f (x)(W − f(x)(Q f(x)(R
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�� ��I� ���% �� 	 "��/ ��`�� �#�
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(f + g)(x) = f(x) + g(x) x ∈ Df ∩Dg

(f − g)(x) = f(x)− g(x) x ∈ Df ∩Dg

(f × g)(x) = f(x)× g(x) x ∈ Df ∩Dg
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g

)
(x) =

f(x)

g(x)
x ∈ (Df ∩Dg)− {x | g(x) 
= S}
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⎩ f = {(R, Q), (Q, W), (W, T), (T, Y), (Y, Z), (Z, [), ([, i)}

g = {(R, S), (W, Y), (T, T), (Y, Y), ([, Q), (−Q, W), (i, R)}
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Q(T R(W S(Q − R(R
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R)y =
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